normalized X?

[ normalized x? probability |

chiz chiz_prob
Entries 747 Entries 747
Mean 1.397 Mean 0.4001
Std Dev 1.566 Std Dev 0.2962

. - 0.05 P
: chiz ChiZ_prol

2 +_[Entes 941 Entries 941
10 Mean 1126 Mean 0.4707
Std Dev 1.208 0.04 Std Dev 0.3006

chiz Chiz_prob
107 - [Entries Entries 937
Mean 0.03] £ - | Mean 0.4713

Std Dev

Std Dev 0.3009

0.02

0.0

10 12 14 16 18 20

09 1
X2 rob(x?)
5 —
FA S i
=] ~ |
< A MHT
- . [
=< e :
v e b
3 S S s % Z r
=== DQM_V0001_R000000001__Global__cmssw1000time__RECO
s DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
wmmm DQM_V0001_R000000001__Global__mkFitNewBins2DC1000time__RECO
1 o > I E T
o 0 :
= 2
o.s—-*{- !
O.G—J:- |5 1 BEE, ]
-3 3 -2 -1 0 1 2 3
n TP n (PCA to beamline)

< x2/ ndf >
< X2/ ndf >

Ratio

<op fp_> (%)




	Contents
	Page 1


